Gravitation and Orbital Motion Appendix A [image: image1.wmf]


Pre/Post Test:  Perceptions of the Force of Gravity

1.  The mass of an astronaut at the Earth’s surface is 80 Kg.  Later, the astronaut is in orbit 200 miles above the Earth’s surface.  In this location, the astronaut’s mass is

a.  less than it was at the Earth’s surface

b.  greater than it was at the Earth’s surface

c.  the same as it was at the Earth’ surface

d.  the astronaut’s mass varies depending on the speed of the rocket in which he rides

2.  The mass of an astronaut at the Earth’s surface is 80 Kg. Later, the astronaut is in orbit 200 miles above the Earth’s surface.  In this location, the astronaut’s weight is

a.  less than it was at the Earth’s surface

b.  greater than it was at the Earth’s surface

c.  the same as it was at the Earth’ surface

d.  the astronaut’s weight varies depending the season

3.  A boulder rests on the Earth’s surface.  The boulder’s mass is significantly less than that of the Earth. In describing the gravitational forces present we can conclude

a.  The Earth pulls harder on the boulder than the boulder pulls on the Earth

b.  The boulder pulls harder on the Earth than the Earth pulls on the boulder

c.  The Earth and boulder pull equally hard on each other

d.  The actual gravity present varies depending on the Earth’s rotation speed

4.  A boulder is first placed at the Earth’s surface, and later placed at a distance twice as far from the Earth’s center.  Which of the following is true?
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a.  The force of gravity acting on the boulder is the same in both cases

b.  The force of gravity acting on the boulder is twice as strong when the boulder is elevated

c.  The force of gravity acting on the boulder is four times stronger when the boulder is elevated.

d.  The force of gravity for the elevated boulder is half of what it was on the Earth’s surface

e.  The force of gravity for the elevated boulder is about ¼ of what it was on the Earth’s surface

5.  When a force of gravity exists between the Earth and a boulder

a.  Both objects experience the same gravitational force

b.  The boulder experiences the greater gravitational force than the Earth

c.  The Earth experiences the greater gravitational force than the boulder

d.  The greater gravitational force is experienced by the object that is moving the fastest

6.  The diagram below represents the Moon in orbit around the Earth.  In this arrangement

a.  The Moon experiences a greater force of gravity than the Earth

b.  The Earth experiences a greater force of gravity than the Moon

c.  The moon experiences NO force of gravity from the Earth because it is so far away

d.  The Moon and Earth pull equally on each other as the moon orbits



7.  An astronaut standing proudly on the surface of the moon

a.  Experiences no gravitational force from the moon

b.  Experiences the same gravitation force she does on the Earth

c.  Experiences a greater gravitational force on the Moon than on the Earth

d.  Experiences a weaker gravitational force on the Moon than on the Earth

8.  The small circle represents a boulder on the surface of the Earth.  In which of the situations below is the force of gravity acting on the boulder the greatest?

a.  Situation A

b.  Situation B

c.  the force of gravity is equal in both situations.
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9.  If gravity were to “shut off” completely when the moon arrived in the position shown, which path would it follow (assume the moon is orbiting in a clockwise direction)? [image: image5.wmf]
10.  In the diagram below each student has a mass of 50 Kg.  Which of the students experiences the greater force of gravity?
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a.  path a


b.  path b


c.  path c


d.  path d


e.  path e





Explain your reasoning:








